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QUESTION 1

Which two statements are true about EJB 3.0 JMS message-driven beans? (Choose two.) 

A. The developer can use JMS messageselector declarationsto restrict the messages that the bean receives. 

B. The developer can associate the bean with a specific queue or topic using the resource-ref element of the
deployment descriptor. 

C. To achieve concurrent processing of more than one message at a time, more than one bean class must be
associated with the same JMS queue. 

D. The developer can usetheactivationConfigelementoftheMessageDrivenannotationto specify whether the bean should
be associated with a queue or a topic. 

Correct Answer: AD 

 

QUESTION 2

An enterprise developer has received ejb-jars from multiple Bean Providers and wants to combine them into a single ejb-
jar as well as altering the method permissions on some of the beans without recompiling any of the code contained in
the ejb-jar. Which is correct? 

A. Bean Provider is the only role that can perform this task. 

B. Deployeris the most appropriaterole toperform thistask. 

C. EitheraDeployer or System Administrator role may perform this task. 

D. This problem cannot be solved using an EJB 3.0-compliant approach. 

E. ApplicationAssembleris the mostappropriate roletoperform this task. 

Correct Answer: E 

 

QUESTION 3

The deployment descriptor for a stateless session bean that uses the isCallerlnRole method reads as follows: 

3.

  

4.

 manager 

5.

 humanresources 
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6.

  

16.

  

17.

  

18.

 Is allowed to view and update all employee records. 

19.

  

20.

 humanresources 

21.

  

Which two roles are responsible for creating this deployment descriptor? (Choose two.) 

A. Deployer 

B. BeanProvider 

C. System Administrator 

D. Application Assembler 

Correct Answer: BD 

 

 

QUESTION 4

EJB 3.0 containers must provide a specific subset of which two APIs? (Choose two.) 

A. JSP APIs 

B. JavaMailAPIs 

C. JAX-WS APIs 

D. Java CardAPIs 

E. Sun Studio APIs 

Latest 1Z0-860 Dumps | 1Z0-860 VCE Dumps | 1Z0-860 Study Guide                                3 / 4

https://www.pass2lead.com/1z0-860.html
https://www.pass2lead.com/1z0-860.html
https://www.pass2lead.com/1z0-860.html


https://www.pass2lead.com/1z0-860.html
2024 Latest pass2lead 1Z0-860 PDF and VCE dumps Download

Correct Answer: BC 

 

 

QUESTION 5

Which statement about mapping using the Java Persistence API is correct? 

A. User-defined XML mapping files can be used only if orm. xml file is NOT present. 

B. All mapping files other than orm. xml must be listed explicitly in the persistence, xml descriptor. 

C. Mapping information specified in the XML mapping file overrides all annotations and default mappings. 

D. The orm.xml file must be placed into the persistence unit\\'s root to be processed by the persistence provider. 

Correct Answer: B 
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